
Here	
  is	
  my	
  a*empt	
  to	
  decipher	
  a	
  “-me	
  sight”	
  	
  entry	
  from	
  the	
  Naviga-on	
  Logbook	
  of	
  the	
  
Charles	
  W.	
  Morgan.	
  	
  Online	
  I	
  thumbed	
  through	
  a	
  few	
  pages	
  of	
  the	
  Naviga-on	
  Log	
  kept	
  at	
  
Mys-c	
  Seaport	
  and	
  on	
  page	
  4	
  of	
  61	
  found	
  an	
  entry	
  	
  dated	
  December	
  9th,	
  1896	
  at	
  3:35	
  PM	
  
that	
  looked	
  like	
  a	
  good	
  candidate.	
  Here	
  is	
  the	
  link	
  to	
  the	
  page:	
  
(hQp://library.mys-cseaport.org/ini-a-ve/PageImage.cfm?PageNum=4&BibID=38512)	
  
Adding	
  3	
  angles	
  and	
  dividing	
  by	
  2	
  and	
  adding	
  4	
  logs	
  to	
  the	
  side	
  seemed	
  good	
  indicators.	
  
Below	
  is	
  the	
  actual	
  entry.	
  	
  I	
  have	
  numbered	
  each	
  entry.	
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Ini/al	
  assessment:	
  Entry	
  1	
  would	
  be	
  the	
  date	
  and	
  entry	
  2	
  would	
  appear	
  to	
  be	
  about	
  the	
  	
  
Time	
  (local)	
  that	
  the	
  sight	
  was	
  taken.	
  	
  The	
  	
  final	
  posi-on	
  would	
  appear	
  to	
  be	
  entries	
  3	
  and	
  4.	
  

My	
  guess	
  is	
  that	
  entries	
  5	
  and	
  6	
  were	
  the	
  watch	
  -me	
  and	
  sextant	
  height	
  (hs)	
  that	
  were	
  copied	
  
down	
  from	
  the	
  data	
  obtained	
  on	
  deck.	
  	
  But	
  why	
  11:36:25	
  for	
  -me?	
  Why	
  not	
  03:36:25	
  PM	
  	
  
corresponding	
  to	
  entry	
  2,	
  3:35	
  PM.?	
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Time:	
  	
  entries	
  5,	
  7,	
  8	
  and	
  9,	
  appear	
  to	
  be	
  dealing	
  with	
  -me.	
  	
  I	
  was	
  a	
  liQle	
  confused	
  by	
  the	
  -mes	
  
all	
  appearing	
  to	
  be	
  around	
  11	
  in	
  the	
  morning.	
  	
  I	
  would	
  have	
  expected	
  to	
  see	
  23:37:25	
  given	
  the	
  
local	
  -me	
  of	
  (3:35	
  PM)	
  15:35,	
  then	
  	
  I	
  surmised	
  that	
  entry	
  5	
  must	
  have	
  been	
  the	
  -me	
  synched	
  
with	
  the	
  Chronometer	
  that	
  was	
  set	
  to	
  Greenwich	
  Civil	
  Time	
  (G.C.T.).	
  	
  Since	
  the	
  Chronometer	
  
hands	
  go	
  from	
  1	
  to	
  12,	
  not	
  24,	
  11:37:25	
  must	
  be	
  Greenwich	
  -me	
  in	
  the	
  PM	
  or	
  the	
  equivalent	
  
of	
  23:37:25	
  (G.C.T.)	
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The	
  Zone	
  descrip-on	
  for	
  135	
  W	
  through	
  me	
  off.	
  	
  It	
  is	
  -­‐9.	
  	
  So	
  adding	
  9	
  to	
  15:35	
  to	
  get	
  back	
  to	
  	
  
G.C.T.	
  	
  would	
  put	
  the	
  chronometer	
  -me	
  at	
  00:35	
  the	
  next	
  day?	
  	
  	
  

My	
  guess	
  is	
  that	
  they	
  had	
  not	
  	
  bothered	
  to	
  change	
  whatever	
  -me	
  device	
  was	
  measuring	
  15:35	
  PM	
  	
  
(entry	
  2,	
  3:55	
  PM)	
  when	
  they	
  crossed	
  from	
  Zone	
  -­‐8	
  into	
  zone	
  -­‐9.	
  

OK,	
  so	
  now	
  how	
  do	
  we	
  get	
  from	
  entry	
  5	
  to	
  entry	
  7?	
  	
  I	
  would	
  conclude	
  that	
  the	
  difference	
  	
  
of	
  	
  45	
  seconds	
  would	
  be	
  the	
  watch	
  error.	
  	
  Whatever	
  watch/stopwatch	
  they	
  used	
  on	
  deck	
  	
  
was	
  45	
  seconds	
  fast,	
  the	
  navigator	
  did	
  the	
  correc-on	
  in	
  his	
  head	
  for	
  entry	
  7.	
  

Alright,	
  now	
  for	
  entry	
  8.	
  	
  I	
  am	
  assuming	
  that	
  entry	
  8	
  represents	
  the	
  chronometer’s	
  error;	
  the	
  	
  
chronometer	
  being	
  3	
  minutes	
  and	
  3	
  seconds	
  fast.	
  	
  Thus	
  entry	
  9	
  represents	
  the	
  corrected	
  	
  
Greenwich	
  Civil	
  Time	
  (G.C.T.)	
  	
  But	
  wait,	
  what	
  about	
  the	
  Equa-on	
  of	
  Time	
  correc-on	
  that	
  my	
  
1938	
  edi-on	
  of	
  Bowditch	
  talks	
  about	
  to	
  get	
  to	
  Greenwich	
  Apparent	
  Time	
  (G.A.T.)?	
  	
  We	
  will	
  
come	
  to	
  that	
  later.	
  

Now	
  that	
  I	
  have	
  a	
  posi-on	
  and	
  -me,	
  let’s	
  go	
  to	
  the	
  USNO	
  website	
  and	
  see	
  what	
  the	
  	
  
Calculated	
  informa-on	
  for	
  that	
  date,	
  -me	
  and	
  loca-on	
  looks	
  like.	
  

Al/tude:	
  assuming	
  that	
  entry	
  6	
  represents	
  the	
  al-tude	
  taken	
  on	
  deck(	
  Hs)	
  how	
  do	
  I	
  account	
  	
  
for	
  entries	
  	
  	
  10,	
  11	
  and	
  12?	
  	
  My	
  assump-on	
  is	
  that	
  the	
  difference	
  between	
  entry	
  6	
  and	
  entry	
  	
  
10	
  is	
  index	
  correc-on	
  (	
  +7	
  	
  off	
  the	
  arc)	
  .	
  	
  The	
  navigator	
  did	
  this	
  calcula-on	
  in	
  his	
  head,	
  not	
  	
  
bothering	
  to	
  write	
  it	
  down	
  on	
  paper.	
  	
  Makes	
  sense?	
  	
  Now,	
  what	
  does	
  the	
  11	
  represent?	
  	
  	
  
Knowing	
  	
  that	
  the	
  al-tude	
  correc-on	
  given	
  by	
  the	
  USNO	
  site	
  above	
  is	
  14.1,	
  I	
  conclude	
  that	
  the	
  	
  
11	
  (entry	
  11)	
  must	
  be	
  made	
  up	
  of	
  +14	
  (the	
  al-tude	
  correc-on	
  for	
  a	
  lower	
  limb	
  site)	
  and	
  -­‐3	
  for	
  	
  
dip	
  represen-ng	
  a	
  height	
  of	
  eye	
  of	
  about	
  10	
  k.	
  	
  Having	
  never	
  stood	
  on	
  the	
  deck	
  of	
  the	
  Charles	
  	
  
W.	
  Morgan,	
  not	
  sure	
  if	
  this	
  makes	
  sense	
  or	
  not	
  but	
  I	
  will	
  go	
  with	
  it.	
  So	
  entry	
  12,	
  23°	
  24’	
  
minutes	
  is	
  the	
  Height	
  Observed	
  (Ho).	
  

I	
  appear	
  to	
  be	
  in	
  the	
  ballpark	
  given	
  Hc,	
  is	
  only	
  2.3’	
  	
  different	
  	
  from	
  entry	
  12,	
  the	
  Corrected	
  Al-tude	
  (Ho).	
  	
  	
  



Calcula/ng	
  (t),	
  the	
  Local	
  Hour	
  Angle	
  of	
  the	
  sun:	
  	
  my	
  1938	
  edi-on	
  Bowditch	
  lists	
  the	
  	
  
following	
  equa-on	
  to	
  be	
  used:	
  

hav	
  t	
  =	
  sec	
  L	
  cosec	
  p	
  cos	
  s	
  sin	
  (s-­‐h)*	
  

s=1/2	
  (h	
  +	
  L	
  +	
  p)	
  

p=	
  90°+/-­‐d	
  (the	
  Polar	
  Distance)	
  

where:	
  

L=	
  the	
  assumed	
  La-tude	
  
h=	
  Ho	
  
d=	
  declina-on	
  

Now,	
  back	
  to	
  the	
  example:	
  

It	
  appears	
  that	
  12-­‐16	
  are	
  the	
  calcula-ons	
  to	
  determine	
  s	
  

Entry	
  12=h	
  
Entry	
  13=L	
  
Entry	
  14=p	
  
Entry	
  	
  15	
  being	
  the	
  sum	
  of	
  12-­‐14	
  

And	
  entry	
  16	
  dividing	
  the	
  sum	
  by	
  2.	
  	
  Easy	
  going	
  here.	
  
The	
  one	
  twist,	
  no	
  spot	
  on	
  the	
  worksheet	
  where	
  d	
  is	
  wriQen	
  down.	
  	
  d	
  must	
  be	
  	
  
22°	
  53’	
  S,	
  the	
  navigator	
  just	
  added	
  this	
  to	
  90	
  °	
  in	
  his	
  head	
  to	
  get	
  entry	
  14,	
  p.	
  	
  I	
  am	
  	
  
surprised	
  that	
  d	
  is	
  so	
  different	
  from	
  the	
  USNO	
  calcula-on	
  of	
  22°	
  57.2’	
  S.	
  	
  Not	
  sure	
  
why?	
  	
  I	
  calculated	
  the	
  Dec.	
  for	
  this	
  date	
  and	
  -me	
  using	
  an	
  online	
  copy	
  of	
  the	
  	
  
Nau-cal	
  Almanac	
  from	
  	
  1896,	
  and	
  got	
  the	
  same	
  answer	
  as	
  the	
  USNO.	
  	
  See	
  	
  
Appendix	
  (1).	
  	
  Dare	
  I	
  suggest	
  that	
  this	
  was	
  an	
  error	
  by	
  the	
  Navigator,	
  am	
  I	
  missing	
  
something?	
  	
  

Entry	
  22	
  is	
  s-­‐h.	
  

*This	
  equa-on(4	
  mul-plica-ons)	
  allows	
  the	
  navigator	
  to	
  make	
  four	
  convenient	
  
	
  addi-ons	
  	
  with	
  the	
  Logarithms	
  of	
  the	
  Trigonometric	
  Func-ons,	
  Table	
  33	
  of	
  Bowditch	
  on	
  the	
  right	
  
side,	
  and	
  one	
  lookup	
  of	
  the	
  sum	
  on	
  the	
  lek	
  side	
  in	
  Table	
  34	
  of	
  Bowditch	
  for	
  example	
  to	
  determine	
  t.	
  



Logarithms	
  of	
  Trigonometric	
  Func-ons	
  and	
  the	
  Haversine	
  

Entries	
  17-­‐21	
  seem	
  fairly	
  straighporward	
  	
  	
  

17	
  being	
  the	
  secant	
  of	
  L	
  	
   	
   	
  10.06939*	
  
18	
  being	
  the	
  cosecant	
  of	
  p	
   	
   	
  10.03560	
  
19	
  being	
  the	
  cos	
  of	
  s	
   	
  	
   	
   	
  	
  	
  9.02639-­‐10	
  
20	
  being	
  the	
  sin	
  (s-­‐h)	
  	
   	
   	
  	
  	
  9.93970-­‐10	
  
21	
  being	
  the	
  sum	
  of	
  17-­‐20	
  	
   	
   	
  	
  	
  9.07108-­‐10	
  

It	
  is	
  interes-ng	
  to	
  note	
  that	
  the	
  navigator	
  leaves	
  off	
  the	
  whole	
  number	
  por-on	
  	
  
of	
  the	
  logarithm.	
  	
  He	
  does	
  this	
  calcula-on	
  in	
  his	
  head.	
  	
  I	
  guess	
  if	
  you	
  were	
  doing	
  this	
  	
  
rou-ne	
  on	
  average	
  a	
  couple	
  -mes	
  a	
  day	
  over	
  a	
  2	
  to	
  3	
  year	
  voyage,	
  you	
  could	
  do	
  	
  
a	
  lot	
  of	
  it	
  in	
  your	
  head.	
  

Now	
  we	
  come	
  to	
  entries	
  23-­‐24.	
  

Entry	
  23	
  is	
  the	
  inverse	
  haversine	
  of	
  21	
  which	
  can	
  be	
  	
  
Found	
  in	
  Table	
  34	
  of	
  Bowditch.	
  	
  I	
  normally	
  compute	
  t	
  
in	
  arc	
  	
  form	
  versus	
  -me.	
  	
  This	
  example	
  is	
  worked	
  	
  
In	
  -me.	
  	
  Perhaps	
  this	
  is	
  why	
  they	
  called	
  it	
  a	
  “-me	
  sight”,	
  
this	
  being	
  the	
  normal	
  procedure?	
  
My	
  1991	
  copy	
  of	
  Norie’s	
  does	
  not	
  list	
  haversines	
  in	
  terms	
  	
  
of	
  -me,	
  but	
  the	
  1938	
  Bowditch,	
  Table	
  34	
  gives	
  both.	
  	
  See	
  
Appendix	
  (2).	
  

Recall	
  

*All	
  entries	
  taken	
  from	
  Table	
  33	
  of	
  my	
  1938	
  copy	
  of	
  Bowditch	
  



So	
  t=2	
  h	
  40	
  m	
  34	
  s.	
  	
  Aker	
  scru-nizing	
  Appendix	
  (1),	
  the	
  1896	
  Almanac	
  
It	
  can	
  be	
  seen	
  that	
  entry	
  23	
  is	
  the	
  Equa-on	
  of	
  Time	
  which	
  is	
  to	
  be	
  subtracted	
  or	
  	
  
added	
  to	
  Mean	
  Time.	
  	
  I	
  had	
  thought	
  that	
  this	
  correc-on	
  would	
  have	
  been	
  subtracted	
  
From	
  line	
  9	
  [the	
  Greenwich	
  Civil	
  Time	
  (G.C.T.)	
  to	
  obtain	
  Greenwich	
  Apparent	
  Time	
  
(G.A.T.)	
  ]	
  I	
  guess	
  it	
  does	
  not	
  maQer	
  whether	
  you	
  subtract	
  it	
  from	
  t	
  or	
  G.C.T.	
  	
  Maybe	
  
Someone	
  can	
  shed	
  light	
  on	
  this	
  for	
  me.	
  	
  It’s	
  clear	
  that	
  the	
  math	
  ends	
  up	
  being	
  the	
  
same.	
  	
  	
  

Since	
  the	
  sun	
  is	
  west	
  of	
  our	
  posi-on,	
  we	
  subtract	
  the	
  meridian	
  angle	
  (t),	
  entry	
  26	
  
from	
  the	
  sun’s	
  Greenwich	
  Hour	
  Angle	
  (both	
  measured	
  in	
  -me)	
  to	
  get	
  our	
  Longitude	
  
measured	
  in	
  -me.	
  The	
  -me	
  diagram	
  below	
  helps	
  iden-fy	
  the	
  rela-onships.	
  

By	
  inspec-on	
  in	
  Table	
  34	
  of	
  Bowditch,	
  	
  9	
  h	
  	
  	
  00	
  m	
  	
  03	
  s	
  	
  is	
  135	
  °	
  01’	
  which	
  we	
  label	
  
West.	
  

I	
  have	
  no	
  idea	
  what	
  entries	
  A	
  or	
  B	
  represent.	
  	
  Maybe	
  someone	
  could	
  shed	
  	
  
light	
  on	
  them?	
  

Any	
  construc-ve	
  feedback	
  would	
  be	
  greatly	
  appreciated.	
  

Doug	
  MacPherson	
  
dwmacpherson2000@gmail.com	
  



1896	
  Nau-cal	
  Almanac	
  Appendix	
  (1)	
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